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 APPOLO STUDY CENTRE 
 

WORKSHEET 
 

STATISTICS – MEASURES CENTRAL TENDENCY 
Gs;spapay; - ikag;Nghf;F msitfs; 

 
1. A student’s marks in 5 subjects are 75, 68, 80, 92, 56. Find his average mark. 

5 ghlq;fspy; xU khztd; ngw;w kjpg;ngz;fs; 75> 68> 80> 92> 56. mtDila ruhrhp 
kjpg;ngz; fhz;f 

 

2. Calculate the mean for the following data 20, 40, 60, 80, 100. 
gpd;tUk; tptuq;fSf;F ruhrhp fhz;f: 20> 40> 60> 80> 100 

 

3. Calculate the Arithmetic Mean for the following data 
nfhLf;fg;gl;l miyntz; gutiyf; nfhz;L $l;Lr; ruhrhpiaf; fzf;fpLf. 

 

Marks 
kjpg;ngz;fs; 

64 63 62 61 60 59 

No. of students 
khzth;fspd; vz;zpf;if 

8 18 12 9 7 6 

 

4. Calculate the Arithmetic Mean for the following data 
tptuq;fSf;fhd $l;Lr;ruhrhpia fzf;fpL 
 

Age in years /  
taJ (Mz;Lfspy;) 

8 10 12 15 18 

No. of workers / 
njhopyhsh;fspd; 
vz;zpf;if 

5 7 12 6 10 

 

5. Find the Arithmetic Mean for the following frequency distribution. 
gpd;tUk; Gs;sp tptuq;fSf;F ruhrhp fhz;f 
 

Marks / 
kjpg;ngz;fs; 

0 - 10 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60 

No. of students / 
khzth;fspd; 
vz;zpf;if 

5 10 25 30 20 10 

  
6. Calculate Arithmetic Mean for the following data 

NtWgl;l tUkhdg; gphpTfisf; nfhz;l egh;fspd; guty; gpd;tUkhW nfhLf;fg;gl;ls;sJ. 
,tw;wpw;F $l;Lr;ruhrhpia fzf;fpLf. 

 

Income / 
tUkhdk; 
(&ghapy; (100)) 

0 - 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 - 70 

No. of Persons / 
egh;fspd; 
vz;zpf;if 

6 8 10 12 7 4 3 

 
7. Find the median for the following data 

25, 18, 27, 10, 8, 30, 42, 20, 53 
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gpd;tUk; tptuq;fSf;F ,ilepiy msT fhz;f:  
25> 18> 27> 10> 8> 30> 42> 20> 53 

  

8. Calculate Median for the following data 
38, 39, 40, 52, 67, 75, 77, 14, 24 
gpd;tUk; tptuq;fSf;F ,ilepiy msT fhz;f 
38, 39, 40, 52, 67, 75, 77, 14, 24 
 

9. Calculate median for the following data 
5, 8, 12, 30, 18, 10, 2, 22 
gpd;tUk; tptuq;fSf;F ,ilepiy msT fhz;f 
5, 8, 12, 30, 18, 10, 2, 22 

 

10. Find Median for the following data 
11, 9, 18, 15, 22, 7, 34, 25 
gpd;tUk; tptuq;fSf;F ,ilepiy msT fhz;f 
11, 9, 18, 15, 22, 7, 34, 25 

  

11. From the following data. Find out the value of median 
nfhLf;fg;gl;l Gs;sptptuq;fspypUe;J ,ilepiyia fzf;fpLf 
 

Income / 
tUkhdk; 

150 160 165 168 170 175 

No. of persons 
/ egh;fspd; 
vz;zpf;if 

16 24 26 30 20 6 

 

12. From the following data calculate median. 
nfhLf;fg;gl;l Gs;stptuq;fspypUe;J ,ilepiyia fzf;fpLf 
 

Income / 
tUkhdk; 

1000 1500 800 2000 2500 1800 

No. of person 
/ egh;fspd; 
vz;zpf;if 

24 26 16 20 6 30 

 

13. Find the median for the following frequency 
gpd;tUk; miyntz; gutYf;F ,ilepiy msitf; fzf;fpLf 

 

Wages / $yp 60 – 70 70 – 80 80 – 90 90 – 100 100 – 110 110 - 120 

No. of workers / 
njhopyhsh;fspd; 
vz;zpf;if 

5 15 20 30 20 8 

 
14. Find the median for the following data 

fPo;f;fhZk; Gs;sp tptuq;fSf;F ,ilepiy msitf; fzf;fpLf 
 

Marks / 
kjpg;ngz;fs; 

10 -20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

No. of Students 
/ khzth;fspd; 
vz;zpf;if 

8 12 12 8 6 7 8 5 4 

 
15. Find the Mode for the following set of observations 

3, 5, 7, 5, 9, 7, 5, 7, 6, 3, 9, 5, 6, 6, 3 
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gpd;tUk; tptuq;fSf;F KfL – fz;Lgpbf;f 
3, 5, 7, 5, 9, 7, 5, 7, 6, 3, 9, 5, 6, 6, 3 

 
16. Calculate the Mode from the following data 

110, 120, 130, 120, 110, 140, 130, 120, 140, 120 
gpd;tUk; tptuq;fSf;F KfL fz;Lgpbf;f 
110, 120, 130, 120, 110, 140, 130, 120, 140, 120 

 
17. Find the mode from the following data 

gpd;tUk; tptuq;fspypUe;J KfL kjpg;igf; fhz;f 
 

 
 

 
18. Calculate mode for the following data 

gpd;tUk; tptuq;fspypUe;J KfL kjpg;igf; fhz;f 

 
19. Find mode for the following data 

gpd;tUk; tptuq;fspypUe;J KfL kjpg;igf; fhz;f 
 

Class 
interval / 
gphpT 
,ilntsp 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

 
Frequency 
/ 
miyntz; 

 
3 

 
7 

 
13 

 
17 

 
12 

 
10 

 
8 

 
7 

 
6 

 
5 

 
20. If the mean and median of a moderately asymmetrical series are 26.8 and 27.9 respectively. 

What would be its most probable mode? 
rkr;rPuw;w njhlhpy; ruhrhp kw;Wk; ,ilepiyfs; KiwNs 26.8 kw;Wk; 27.9 vdpy; rhpahd 
KfL vd;d? 

 
21. In an moderately asymmetrical distribution the values of mode and mean are 32.1 and 35.4 

respectively. Find the median value? 
rkr;rPuw;w gutypy; KfL kw;Wk; ruhrhp KiwNa 32.1 kw;Wk; 35.4 vdpy; ,ilepiy kjpg;igf; 
fhz;f 

 

22. If the mode & mean of a moderately asymmetrical series are 80 & 68. What will be the most 
probable median? 
rkr;rPuw;w njhlhpy; KfL kw;Wk; ruhrhp KiwNa 80 kw;Wk; 68 vdpy;> rhpahd ,ilepiy 
kjpg;igf; fhz;f 

x 28 29 30 31 32 33 

F 10 20 40 65 50 15 

Class 
Interval / 
gphpT 
,ilntsp 

0-50 50-100 100-150 150-200 200-250 250-300 300-350 350-400 400-450 

 
Frequency 
/ 
miyntz; 

 
5 

 
14 

 
40 

 
91 

 
150 

 
87 

 
60 

 
38 

 
15 
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23. In an moderately asymmetrical distribution the value of median is 40 and mode is 37. Find 
the mean. 
rkr;rPuw;w gutypy; ,ilepiyapd; kjpg;G 40> Kfbd; kjpg;G 37. vdpy; ruhrhpapd; kjpg;G? 

 
24. Find the combined mean for the data given below 

N1 = 20; 1X  = 4; N2 = 30; 2X = 3 

fPNo nfhLf;fg;gl;Ls;s tptuj;jpw;F ,ize;j $l;Lr;ruhrhpiaf; fhz;f 

N1 = 20; 1X  = 4; N2 = 30; 2X = 3 

 
25. Find the combined mean from the following data 

1X  = 210;  N1= 50 

2X = 150;  N2 = 100 

fPNo nfhLf;fg;gl;Ls;s tptuj;jpw;F ,ize;j $l;Lr;ruhrhpiaf; fhz;f 

1X  = 210;  N1= 50 

2X = 150;  N2 = 100 

 
26. Find the combined mean from the following data 

N1 = 200;  N2 = 250; N3 = 300 

1X = 25;  2X = 10; 3X = 15 

fPNo nfhLf;fg;gl;Ls;s tptuj;jpw;F ,ize;j $l;Lr;ruhrhpia fhz;f 
N1 = 200;  N2 = 250; N3 = 300 

1X = 25;  2X = 10; 3X = 15 

 
27. The average weight for a group of 25 boys was calculated to be 78.4 lb. It was later 

discovered that the weight of one boy was misread as 69 lb instead of the correct weight of 96 
lb. calculate the correct average. 
25 Ngh;fs; mlq;fpa FOtpdhpd; ruhrhp vil 78.4 lb. mth;fspy; xUthpd; rhpahd vil 96 lb 
vd;gjw;F gjpyhf 69 vd;W jtwhff; Fwpf;fg;gl;bUe;jJ vd;W gpd;dhy; fz;lwpag;gl;Ls;sJ 
vdpy; mf;FOtpdhpd; cz;ikahd ruhrhp vil vd;d? 

 
28. The mean of 200 items was 50 later on it was discovered that two items were misread as 92 

and 8 instead of 192 and 88. Find out the correct mean. 
200 nghUl;fspd; ruhrhp kjpg;G 50 ,tw;wpy; 192 kw;Wk; 88 rhpahd kjpg;GfSf;F gjpyhf 
KiwNa 92 kw;Wk; 8 vd jtwhff; fzf;fplg;gl;lJ vd;W gpd;dh; fz;lwpag;gl;Ls;sJ vdpy; 
rhpahd ruhrhpiaf; fzf;fpLf 
 

29. Find mean of first 10 natural numbers? 
Kjy; 10 ,ay; vz;fspd; ruhrhpiaf; fhz;f. 
 

30. Calculate weighted mean from the following data 
gpd;tUk; jfty;fspy; epiwapl;l ruhrhpia fhz;f 
 

Value / kjpg;G 10 12 15 18 20 

Weight / vil 2 5 12 4 7 

 
 
 


